

Expressions (<i>'simplify'</i>)	Equation	Formulas (<i>'substitute'</i>)	Factorise
$3x + 4y + 2x + 6y$	$3y = 15$	$y = x + 3$ $x = 6$	$4x + 6$
$8p + 15 - 3p + 2$	$\frac{r}{2} = 14$	$y = 2x - 5$ $x = 4$	$15x + 25$
$4x^2 + 5x^2 - 3x^2$	$3y + 2 = 14$	$A = \frac{b \times h}{2}$ $b = 10, h = 3$	$12x^2 + 9x$

$-2x \times -3y \times 4z$	$\frac{p}{3} + 7 = 12$	$C = \frac{4a + 3b}{3}$ $a = -3, b = 5$	$e^3 + e$
$2x \times 3y \times 4z$	$4e + 12 = 4$	$d = s \times t$ $s = 30, t = 2.5$	$y^2 + y$
$p \times -3q \times 4r$	$2(5x + 1) - 3(2x - 2) = 28$	$A = 3.14 R^2$ $R = 5$	$27y + 18$
$\frac{12x^2y^2}{9xy}$	$\frac{\alpha}{5} + \frac{2}{3} = 1 \frac{1}{15}$	$A = \frac{(a + b)}{2} \times h$ $a = 5, b = 7, h = 10$	$24x + 12y$